pjo1-d

YOLVTIDIANI FHL A9 AILNVED NIdd SVH NOISSIWNYAd TILNN dIN3dO 34 LON A'TNOHS ¥3dVd NOLLVNIAVXH SIH ],

‘suonsanb § [[e Tomsuy :suopamjsul
SINOY ¢ :POMOJ[e dWI1],
001SSD :IaquInu 3SINo))

ADNAIDS TVID0S YOI ONILLAJWOD OL NOLLDNAOWLNI :19ded jo spry,

800 NOILVNIAVXd AUV ININA1ddNS

a>uang 1ndwo)) jo yjusurpredaq

2>ud1dg jJo Lymoeg

ANVIIZVMS 40 ALISYFAINN



pjogd

[¥] M, 1219 Ay}
UIIM }IB)S SOWIRU 3soym Ianduiod sy ul sa[1j [[e puij 0} aye} pinom noA sdajs ayj aquosaq (p

[] *19p[0¥ 924 oyut Sdl-uow AdoD ¢
€] "00p'pam PP T
[€] "1x1'14f Se 3x3'ang weudy I

:JNO paLired 3q Aew SUIMO][0]
ayy Moy aqLIsap “pauado usaq Apeaife sey mopurm randuro) AN jeys Sutunssy 1
[€] -00p°pam Jo awreu Yred a3 umop UM T

‘qeq pue
up[ pa[[ed a1e SI9P[OJ Y} S[IYM “dop’pam pue jxj'anj ‘Sdl uow paf[ed a1e sa[y YL 'SI9P[O]
PpUe S3[IJ SWOS JO UOLED0[ A B[aI ) SMOYs werdelp 325 10 Aydrerany Surmoroj ayr (2

[c] -aaoqe (e)z uonsany) ur payst] syred ap jo g Aue jo asodand ayy ureidxy (q

[c] "U0j3Nq SZIWIUTW pue Jeq [00} ‘Ieq [[0IS ‘Teq
nuaw ‘req apin :sixed ¢ SUIMO[[0] 93 [aqe] A[Te3]0 pue mopuim e Jo wreiderp ad1el e mex(q (e

SS[AeW GZ] — ¢ uoNsan

[zl "2d £} yeys Jo d1AP
ardurexa suo jsed Je Jo aureu ay3 pue asodind sit jo uoneue(dxa ue ‘0d4) yoea 10§ ‘opnpur
PINOYS ISMSUR INOX 'SIIIAIP d1empiey Jo sadL) ureuwr dATJ Y} JO MITAISAO PI[IEIDP B AILIM

[SEewW Gz = T uonsan)




yjog-d

[9] {MOI 3[ppIu 33 Jo Y319y dY} aseaIdur pfnom
Moy ‘A[puodag ;sauo Sunsixa ayj uaamiaq ur readde tuunjod (uerq) mau e axew nok
PINoM MOy ‘A[3SIT] "SUWIN|0d g pue smol ¢ Jo dn apews 3[qe} e ST 3133 JUuswmndop e uj

(%] “JUsWmoop
ay} Jo pus ayy je 1eadde 03 Juswumndop e jo yderSered 111y ap Jo Adod [eonnuapr ue axen

[zl (Sadusjuas a3 jo auo Sururejuod yoes ‘syderdered omy ojur
1 311ds no£ pynom mop ‘saduajuas g jo Supsisuod ydeiZered e s1 2193 yuswumoop e ug

rd] “wa SunPaIIod
10§ suonsad8ns ureiqo pue ‘pafads A[3031100Ur U3aq SABY SPIOM UDIYM JNO puUI]

[c] "PIOq 03 pIOM B JO 3[AIS Juoj a a8uey)

4! ydesBered e uBe-anua)

A

‘Al

il

R

:S]USWNOOP PIOAA IJOSOIIIA Ul
syse} SUTMO[[0] a3 INO AI1IEd 0} ISPIO UT UdXe) 2q pnoys el sdajs ay [Te1dp ur aqudsa(]

(9] -Juaurudie Y81 pue Juswude 3531
-Bumeds ajqnop pue Suneds s8uig

‘sqe} pue sadedg

m

b

T

:sired Suimor[og a3 Jo Yoea usamiaq ysmS3unsip ‘sajdurexa jo pre aug YIp (q

[1] ¢a1hzs juof o131 wixd) ayy Aq yueswr stieym (e

SSAeW G¢] — ¢ uonson




pjopd

T | [ R Rl
%L 8lyedSe  [0i9eS) | EMuE7) §
1896, 6BZEBOL  09El} | puejzemg| g
066k JZERLL BI¥SE8 | BIGIUENI )
%6 |6VBGBEOL  08¥BLL WEIBIN| 8
o..iseek  iviewle  (0SEQE oyosa) §
jossl i9soEsz _ joooeye | OBuoj
99} [0ib9JSL  0JECOY | euemsiog) £
194BL_192GvL0L  00/9¥gL | Epbuy| Z.
BQNaﬂNHdBDNI NOLLWﬂdOd VETHV )\H.LNGGD 5»

[#] -uorjeindod jo 19p10 Surpuadse ut 3[qe) AIPUD U} POG A

[€] *AI}Unod Yoes Jo eare 3y} SUIMOYS 11eYD Jeq e J1asU] 'TIA

[€] Jernuxog sy 3d 41 nok pom jaayspeards

ayj ur axdyM, -dduapuadapur Jo 184 JUSDAI JSOW Y} AJR[NI[ED O} B[NULIOJ B 3JLIAL 'TA

[€] senuuiog snpy 9d4) noL pinom jasyspeaxds
AU} UI AI3YAMA "s9113unod ayj3 jo uoyendod a8eisae ay) aje[noOTEd 0] B[NULIO B 9JLIAL A

[€] ;senuwoy snp ad£3 no£ pinom
19ayspeaxds 9y} UI 2I3A) 'SSLIILNOD 3L} JO BIIE [2}0} Y} 9}B[ND[ED O} B[NULIOJ © JJLIA Al

[z] *MOI §,03U0)) 3123 "Ml
[zl *MOT[4A 03 s3urpeay uun{od 3y} Jo Inoj0d punoidspeq ay} aduey) ‘I
el "SOLIJUNOD JO Sdawieu 3y uSife-1ySul pue saulrapun 1

:199yspeards sy ur syse} SUIMO[[0] 3} INO A1Ied 0} IDPIO U UdXe)} 3q PINOYS
je sdajs au [1e1ap Ul 9qUIdSI( “PajedIpur are dudpuadapur Jo yeak pue uongemndod
‘(sanpdwio[ry axenbs ur) vare ayj ‘AI3UN0d Yord 10, 'SILIJUNOD JO IdUINU B SUTUIIdU0D

uoyeurIojur awos smoys aded smy Jo woijoq AU 18 udAIS 19ayspeards [90xg SO YL (9

[z] is19ayspeards ur 4vq vinuwiof 3\ Jo asodind ap styeyps (e

[55Tewr 6] = ¥ uonsang




UNIVERSITY OF SWAZILAND
Faculty of Science
Department of Computer Science

SUPPLEMENTARY EXAMINATION 2008

Title of paper: INTRODUCTION TO COMPUTING FOR SOCIAL SCIENCE
Course number; CSS100
Time allowed: 3 hours

Instructions: Answer all 4 questions.

THIS EXAMINATION PAPER SHOULD NOT BE OPENED UNTIL PERMISSION HAS BEEN GRANTED BY THE INVIGILATOR
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Question 1 - [25 marks]
Write a detailed overview of the five main types of hardware devices. Your answer should

include, for each type, an explanation of its purpose and the name of at least one example
device of that type. [25]

Question 2 — [25 marks]

a) Draw a large diagram of a window and clearly label the following 5 parts: title bar, menu
bar, scroll bar, tool bar and minimize button. [5]

b) Explain the purpose of any 2 of the parts listed in Question 2(a) above. [2]

c) The following hierarchy or tree diagram shows the relative location of some files and
folders. The files are called mon.jpg, tue.txt and wed.doc, while the folders are called Jan
and Feb.

i. Write down the path name of wed.doc. [3]
ii. Assuming that My Computer window has already been opened, describe how the
following may be carried out:

1. Rename tue.txt as fri.txt. [3]
2. Delete wed.doc. [3]
3. Copy mon.jpg into Feb folder. (5]

d) Describe the steps you would take to find all files in the computer whose names start with
the letter 'w'. [4]
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Question 3 - [25 marks]

a) What is meant by the term italic font style? [1]

b) With the aid of examples, distinguish between each of the following pairs:

I

ii.

1ii.

Spaces and tabs.
Single spacing and double spacing.

Left alignment and right alignment. [6]

Describe in detail the steps that should be taken in order to carry out the following tasks
in Microsoft Word documents:

ii.

il

iv.

Vi.

Centre-align a paragraph. [2]
Change the font style of a word to bold. [2]

Find out which words have been incorrectly spelled, and obtain suggestions for

correcting them. [2]
In a document, there is a paragraph consisting of 2 sentences. How would you split it
into two paragraphs, each containing one of the sentences? [2]

Make an identical copy of the first paragraph of a document to appear at the end of the
document. [4]

In a document, there is a table made up of 3 rows and 2 columns. Firstly, how would

you make a new (blank) column appear in between the existing ones? Secondly, how
would increase the height of the middle row? [6]
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Question 4 —[25 marks]

a) What is the purpose of the formula bar in spreadsheets? [2]

b) The Microsft Excel spreadsheet given at the bottom of this page shows some information
concerning a number of countries. For each country, the area (in square kilometres),
population and year of independence are indicated. Describe in detail the steps that
should be taken in order to carry out the following tasks in the spreadsheet:

1. Underline and right-align the names of countries. [3]
ii. Change the background colour of the column headings to yellow. [2]
iii. Delete Congo's row. [2]

iv. Write a formula to calculate the total area of the countries. Where in the spreadsheet
would you type this formula? [3]

v. Write a formula to calculate the average population of the countries. Where in the
spreadsheet would you type this formula? [3]

vi. Write a formula to calculate the most recent year of independence. Where in the

spreadsheet would you type this formula? [3]
vii. Insert a bar chart showing the area of each country. [3]
viii. Sort the entire table in ascending order of population. [4]

B 1oc D |E
._-if’.___ CQQNTRY AREA__POPULATION INDEPENDENCE|
2 |Angola | 1246700) 10146267, 1976
‘3 |Botswana | 600370, 1676470, 1966

4 [Congo | 342000/ 2830961 1960,
5llesotho | 30360 2143141 1966
6 [Malawi | 113480[ 10385849 1se4,
7 |Nemibia | 25418 177131 1990

8 [Swaziand | _ 17380] 1083269 1%B]
9 Zambia | 752610 9%e24%8, 1964

10 ) ;
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